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Problem 1

The third-degree Taylor polynomial about
r=0of In(l —ux) is:

[ SHOW ANSWER |
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Problem 2

o
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f e 2dt is
0

[ SHOVY ANSWER |

A. -1

B. —0.5

C. 0.5

D. 1

E. divergent
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Problem 3

The area of one loop of the graph of the polar equation
r = 2sin(36#)is given by which of the following?
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Problem 4
3z
N |
lim =
=0 tan:r
[ SHOW ANSWER |
A. —1
B. 0
C. 1
D. 3
E. DNE
Problem 5

Identify the false statement.

| SHOW ANSWER |

A. dsinh(x) exanalil)
dx
B. 1 cosh(:x
w = sinh(x)
dr
C. L
f sech®(z)dr = tanh(t) — tanh(a)
D. cosh®(z) — sinh?(x) = 1

All four statements are true.
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Problem 6

6
Evaluate / Voxr — r3dr
0
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Problem 8

Find f " cos(naz)dr

[ SHOW ANSWER |

A. o mcos(nx) — nsin(nr) -
m? + n?
B. o cos(nr) — sin(nx) L C
m? + n? '
C. oz 1 sin(nx) + mcos(nx) L
m2 + n2
D. —a™" ¢os(nx) ‘
Xz7F—+C
i
E. Non of the above.

Problem 9

Find the arclength of the curve y = In(sin(%])

. T
on the interval [: E]
| SHOW ANSWER |
A. B}
lu(é +1)
B. In(1+ v2)
N
D. In(1+v2) —1
E. 1—In(1+ \/5)
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Problem 10

The area bounded by the lemniscate with polar equation
2 i
r~ = 2cos(26) is equal to

[ SHOW ANSWER |
A. 4
B. 1
c. 1
2
D. 2
E. Nonewf the above
Problem 11

, . 1 ,
The graph of the polar equation r =fF——— is:
sinf — 2 cosf

[ SHOW ANSWER |

A. a circle

B. a line with slope 1

B a line with slope 2

D. a parabola

E. a semi-circle
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Problem 12
. 2 2 "
The power series x + e T + .+ —+..
2 n
converges if and only if:
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Problem 13 f

The power series
(z+1)* (z+1)° 4@ 7
: ...diverges:

i I L

[ SHOW ANSWER |

for no real x values

if —2<2<0 Q{
ifr<—-2o0rz>0

if —2<x<0

if ##—1 .O

m B gum w



AP Calculus BC Practice Test | iLearnMath.net

Problem 14

a0
The series Z n!(z —3)" converges if and ouly if

n=()

[ SHOW ANSWER |

¥ =
2<z<4
2=
2<r<4

< 20re>4

A

The interval of convergence ‘@ ries obtained through
term by term differentiation of t‘.ho‘é
r—2)2 (x-2) (x
oz =2 @2 |
4 9 16

| SHOW ANSWER |
1<2<3 Q
1 et (
1<2<3
0<z<4 N
None of the above. O

18:

rpRBRP



AP Calculus BC Practice Test | iLearnMath.net

Problem 16

- - . - =X .
The coefficient of #* in the Maclaurin series for f(x) =™ is:

SHOW ANSWER
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Problem 17

The Maclaurin polynomial of order 3 for f(x) =1+ is

[ SHOWY ANSWER |
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Problem 18

The Taylor polynomial of order 3 at x=1 for " is:

il P g =)
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Problem 19

e . mea. ;
The coefficient of (= — 1)1 in the Taylor series

T
about 1 of f(x) =cosx is

| SHOW ANSWER |
A. V3
=
B. -1
12
Gl 1
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D. L
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E. —1
3v2
Problem 20

00 m

a . . - I *xT1 4.

The radius of convergence of the series E ——
2" % n!
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[ SHOW ANSWER |

A. 0

B. 2
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